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     Cholkar     MCHS    MATH II       ___/___/___         Name____________________________
	U5L2INV1
	How do we solve equations that involve both linear and inverse functions?

	HW # 

	6.8 Ready, Set, Go [1, 10,15, 16, 21, 24]​              

	Do Now

	Find the value of x in each equation.
a.                                  b.                                c.                                 d.  




INVESTIGATION:  SUPPLY AND DEMAND  (pg. 360)
My role for this investigation _________________________
1. Kent County has $200,000 to spend on student salaries.
 a.  How many student workers can be hired if the county pays $2,000 per worker for a summer contract covering either weeks?  ______________

What if the county pays only $1,500 per worker?  ____________  $1,000 per worker?  ______________
b.  If the pay per worker is represented by p, what function h(p) shows how the number or students who could be hired depends on the level of pay offered?   ______________________
c.  Sketch a graph of the function h(p) and write a brief description of the way h(p) changes as p increases.
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Pay Offered (i dollars) 500 | 1,000 | 1,500 | 2000 | 25500

Expocted Applicants | 55 | 100 155 210 255




2.  
a.  Does the pattern in the data table seem reasonable?  Why or why not?
_________________________________________________________________________________________

b.  What function s(p) would be a good model of the relationship between the number of students who will apply for the jobs and the level of pay offered?  ____________________________

c.  Sketch a graph of s(p) and write a brief description of what it shows about the way the number of job applicants changes as pay increases.
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3.  a.  Write equations and inequalities that match the following questions about the jobs program, and then estimate or find exact values for solutions.
    i.  For what pay rate(s) will the number of students who can be hired equal the number of students who would be interested in the work?

__________________________________________________________________________________________
   ii.  For what pay rate(s) will the number of students who can be hired be less than the number of students who would be interested in the work?

__________________________________________________________________________________________

   iii.  For what pay rate(s) will the number of students who can be hired be greater than the number of students who would be interested in the work? 

__________________________________________________________________________________________
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b.  Sketch a graph showing how both h(p) and s(p) depend on p and explain how the graph illustrates your answers to the questions in Part a.
4.  a. Use tables or graphs of functions to estimate solutions for the following equations.  In each case, sketch a graph showing the two functions involved in the equation and give coordinates of point(s) that correspond to solutions of the equations.
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b. Solve this equation algebraically.         
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b. Solve this equation algebraically.
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b. Solve this equation algebraically.
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b. Solve this equation algebraically.
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c.  Look at the results of your work in Parts a and b.  In general, how many solutions can there be for an equation in the form[image: image1.png]o



  ____________________

[image: image28.png]—x+1




5.  Now consider equations in the form 
           where a, b, and k are not zero.

b.  Solve the following equations algebraically.  How many solutions can there be for an equation in the form [image: image29.png]



                   ___________

i.  


ii.  



iii.  



iv.  

	Lesson Summary
	In this investigation, you developed strategies for solving problems that involve both a linear function and an inverse variation function.

[image: image2.png]) Wnat strategy would you use to solve a system of equations of the form y = ax + b
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[image: image4.png]How can you estimate the solutions to equations like those in Part b by inspecting
tables and graphs of functions? What will graphs look like in each solution case?







Math Toolkit Vocabulary:  inverse and linear functions
Cholkar     MCHS    MATH II       ___/___/___         Name____________________________

HW # 

Solve each system algebraically. Then represent the solution on a graph.  Label any key points. 
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Solve each system algebraically. 

7. 
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9. Find the lengths of the legs of a right triangle whose hypotenuse is 
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 feet and whose area is 3 square feet. 


10. A small television is advertised to have a picture with a diagonal measure of 5 inches and a viewing area of 12 square inches.  What are the length and width of the screen?
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